[

L HAIN
HEAOWAY

EXTENDED

HYDRAULIC
TOOL HOLDER
SERIES

LHC/R
& & BT 2 5

/ -

2



LHC SR &E T 25

Dual Drive HYDRAULIC TOOL HOLDER SERIES

{7 || SBT/LHC &M iR 7% B T

CHAIN Dual Drive HYDRAULIC TOOL HOLDER

HEADWAY

L2

L3

H
D2
D3
D4

L1

| %% Feature
- BEAEE) 4 G2.5 25000rpm -Dynamic Balancing G2.5 at 25000rpm

HERAE RER4% UBERBs 58
#MAME  Adjustment  ®RF  (KGS)
Torque screw Wrench Weight

SBT30-LHC6R-70 6 | 23 | 26 |445| 70 |375|275| 28 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M5*0.5 | PT2.5 0.7
SBT30-LHC8R-70 8 | 25 | 28 | 445 | 70 |37.5|275| 28 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M6*1.0 PT3 0.8
SBT30-LHC10R-75 | 10 | 27 | 30 | 445 | 75 |425|325| 36 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M8*1.0 PT4 0.8

SH B 9B 44 wmF

Clamping screw  Wrench

SBT30-LHC12R-75 | 12 | 29 | 32 | 445| 75 |475|375]| 36 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M8*1.0 PT5 0.9

SBT30-LHC14R-85 | 14 | 31 | 34 | 445 | 85 |475|375| 44 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M8*1.0 PT5 0.9
SBT30-LHC16R-90 | 16 | 35 | 38 |44.5| 90 | 52.5|425| 48 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M12*1.0| PT6 1.0
SBT30-LHC18R-90 | 18 | 37 | 40 |44.5| 90 |52.5|425| 48 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M12*1.0| PT6 1.0
SBT30-LHC20R-90 | 20 | 39 | 42 | 445 | 90 | 52.5|425| 48 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M12*1.0| PT6 11
SBT40-LHC6R-90 6 | 23| 26 | 50 | 90 |37.5|27.5| 44 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M5*0.5 | PT2.5 15

SBT40-LHC8R-90 8 | 25| 28 | 50 | 90 |37.5|275| 44 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M6*1.0 PT3 15

SBT40-LHC10R-90 | 10 | 27 | 30 | 50 | 90 |425|325| 44 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M8*1.0 PT4 15
SBT40-LHC12R-90 | 12 | 29 | 32 | 50 | 90 |47.5|37.5| 44 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M8*1.0 PT5 15
SBT40-LHC14R-90 | 14 | 31 | 34 | 50 | 90 |47.5|37.5| 44 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M8*1.0 PT5 1.6
SBT40-LHC16R-90 | 16 | 35 | 38 | 50 | 90 |52.5|425| 48 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M12*1.0| PT6 16
SBT40-LHC18R-90 | 18 | 37 | 40 | 50 | 90 |52.5|425| 48 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M12*1.0| PT6 1.6
SBT40-LHC20R-90 | 20 | 39 | 42 | 50 | 90 | 525|425 | 48 |LHC-M10-1.5P-14L| PT5 55Nm. | AJ-M12*1.0| PT6 16

SBT40-LHC25R-100 | 25 | 53 | 57 - |100| 61 | 51 | - |[LHC-M10-1.5P-14L| PT5 55Nm. | AJ-M12*1.0| PT6 2.2

SBT40-LHC32R-105 | 32 | 58 | 63 - |105| 65 | 55 | - |LHC-M10-1.5P-14L| PT5 55Nm. | AJ-M12*1.0| PT6 24

02 - E[EEE{I Unit of Length (mm)



LHC S maR&EE I 25

Dual Drive HYDRAULIC TOOL HOLDER SERIES

{7~ || SBT/LHC & 5= % B J] 1R

el

CHAIN Dual Drive HYDRAULIC TOOL HOLDER

HEAITWAY

12

L4

| %% Feature
- XS4 0 G2.5 25000rpm -Dynamic Balancing G2.5 at 25000rpm

HERAE RERS URERB4s 52
#=MAME  Adjustment  R®RF  (KGS)
Torque screw Wrench Weight

SH B 9R 44 wF

Clamping screw ~ Wrench

SBT50-LHC6R-90 6 | 23| 26 | 50 | 90 |37.5|275| 32 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M5*0.5 | PT25 42
SBT50-LHC6R-140 6 | 23 | 26 | 50 |140|37.5|275| 44 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M5*0.5 | PT2.5 4.8
SBT50-LHC8R-90 8 | 25| 28 | 50 | 90 |37.5|275| 32 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M6*1.0 PT3 4.2
SBT50-LHC8R-140 8 | 25| 28 | 50 |140|37.5|275| 44 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M6*1.0 PT3 4.8

SBT50-LHC10R-90 10 | 27 | 30 | 50 | 90 |425(325]| 32 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M8*1.0 PT4 43
SBT50-LHC10R-140 10 | 27 | 30 | 50 [140|425|325| 44 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M8*1.0 PT4 49

SBT50-LHC12R-90 12 | 29 | 32 | 50 | 90 |475|375]| 32 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M8*1.0 PT5 43
SBT50-LHC12R-140 12 | 29 | 32 | 50 |140|47.5|37.5| 44 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M8*1.0 PT5 49
SBT50-LHC14R-90 14 | 31 | 34 | 50 | 90 |475|37.5]| 32 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M8*1.0 PT5 43
SBT50-LHC14R-140 14 | 31 | 34 | 50 |140|475|375| 44 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M8*1.0 PT5 4.9
SBT50-LHC16R-90 16 | 35 | 38 | 50 | 90 |52.5(425]| 32 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M12*1.0| PT6 44
SBT50-LHC16R-140 16 | 35 | 38 | 50 [140|525(425| 48 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M12*1.0| PT6 5.0
SBT50-LHC18R-90 18 | 37 | 40 | 50 | 90 |52.5(425]| 32 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M12*1.0| PT6 44

SBT50-LHC18R-140 18 | 37 | 40 | 50 |140|525(425| 48 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M12*1.0| PT6 5.0
SBT50-LHC20R-90 20 | 39 | 42 | 50 | 90 | 525|425 32 |LHC-M10-1.5P-14L| PT5 55Nm. |[AJ-M12*1.0| PT6 44
SBT50-LHC20R-140 20 | 39 | 42 | 50 |140|525|425| 48 |LHC-M10-1.5P-14L| PT5 55Nm. |AJ-M12*1.0| PT6 5.0

SBT50-LHC25R-105 25 | 53 | 57 - |105] 61 | 51 | - |LHC-M10-1.5P-14L| PT5 55Nm. |AJ-M12*1.0| PT6 4.9
SBT50-LHC25R-150 25 | 53 | 57 - |150| 61 | 51 | - |LHC-M10-1.5P-14L| PT5 55Nm. | AJ-M12*1.0| PT6 5.5
SBT50-LHC32R-115 32 | 58 | 63 - |115}] 65 | 55 | - |LHC-M10-1.5P-14L| PT5 55Nm. | AJ-M12*1.0| PT6 51
SBT50-LHC32R-150 32 | 58 | 63 - |150| 65 | 55 | - |LHC-M10-1.5P-14L| PT5 55Nm. | AJ-M12*1.0| PT6 5.9

« EEEAI Unit of Length(mm) 03



LHC /R B2 J]#h %5

HYDRAULIC TOOL HOLDER SERIES

{7~ BT/LHC &E I

CHAIN HYDRAULIC TOOL HOLDER

HEADWAY

L2

L3

H
D2
D3
D4

L1

| 42 Feature

- IBAEH) 4 G2.5 25000rpm -Dynamic Balancing G2.5 at 25000rpm
" HERAE FAEESR  EER B2
o R W WENE Adjustment #RF  (KGS)
[eAnie Torque screw Wrench Weight
BT30-LHC6R-70 6 | 23 | 26 |445]| 70 |37.5|275| 28 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M5*0.5 | PT25 | 0.7
BT30-LHC8R-70 8 | 25 | 28 445 70 |37.5|275| 28 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M6*1.0 | PT3 0.8

BT30-LHC10R-75 10 | 27 | 30 | 445 | 75 |425|325]| 36 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M8*1.0 | PT4 0.8

BT30-LHC12R-75 12 | 29 | 32 | 445 | 75 |475|375]| 36 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M8*1.0 | PT5 0.9

BT30-LHC14R-85 14 | 31 | 34 | 445 | 85 |475|375| 44 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M8*1.0 PT5 0.9

BT30-LHC16R-90 16 | 35 | 38 | 445 | 90 |525|425| 48 |LHC-M8-1.25P-14L| PT4 55Nm. |AJ-M12*1.0| PT6 1.0

BT30-LHC18R-90 18 | 37 | 40 | 445 | 90 |525[425| 48 |LHC-M8-1.25P-14L| PT4 55Nm. |AJ-M12*1.0| PT6 1.0
BT30-LHC20R-90 20 | 39 | 42 |445| 90 [525|425| 48 |LHC-M8-1.25P-14L| PT4 55Nm. |AJ-M12*1.0| PT6 1.0
BT40-LHC6R-65 6 | 23| 26 | 50 | 65 (375|275 23 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M5*0.5 | PT2.5 13
BT40-LHC6R-90 6 | 23| 26 | 50 | 90 |37.5|275| 44 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M5*0.5 | PT25 14
BT40-LHC6R-140 6 | 23 | 26 | 50 |140|37.5|275| 44 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M5*0.5 | PT2.5 22

8

8

8

BT40-LHC8R-65
BT40-LHC8R-90

25 | 28 | 50 | 65 |375|275| 23 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M6*1.0 PT3 13

25 | 28 | 50 | 90 |37.5|275| 44 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M6*1.0 | PT3 15

BT40-LHC8R-140 25 | 28 | 50 [140|37.5|27.5| 44 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M6*1.0 | PT3 23

BT40-LHC10R-65 10 | 27 | 30 | 50 | 65 |425|325| 23 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M8*1.0 | PT4 13
BT40-LHC10R-90 10 | 27 | 30 | 50 | 90 |425|325| 44 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M8*1.0 | PT4 15
BT40-LHC10R-140 | 10 | 27 | 30 | 50 |140|425|325]| 44 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M8*1.0 | PT4 23
BT40-LHC12R-65 12 | 29 | 32 | 50 | 65 [47.5|37.5| 23 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M8*1.0 | PT5 13
BT40-LHC12R-90 12 | 29 | 32 | 50 | 90 |475|37.5| 44 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M8*1.0 | PT5 15
BT40-LHC12R-140 | 12 | 29 | 32 | 50 [140|475|37.5| 44 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M8*1.0 | PT5 23

BT40-LHC14R-65 14 | 31 | 34 | 50 | 65 |475|375| 23 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M8*1.0 | PT5 14

BT40-LHC14R-90 14 | 31 | 34 | 50 | 90 |475|375| 44 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M8*1.0 | PT5 1.6

BT40-LHC14R-140 | 14 | 31 | 34 | 50 [140|475|375| 44 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M8*1.0 PT5 24

04 - EEEE{I Unit of Length (mm)



LHC ®EB2J]th %5

HYDRAULIC TOOL HOLDER SERIES

{i=~ | BT/LHC &E I

el

CHAIN HYDRAULIC TOOL HOLDER

HEAITWAY

L2

ml
D2
D3
N4

L4

L1

| %% Feature
- BB G2.5 25000rpm -Dynamic Balancing G2.5 at 25000rpm

HERAE RARBS  EREE ES
#ZMNE Adjustment #IRF  (KGS)
Torque screw Wrench Weight

H B 9R 4k wRF

Clamping screw  Wrench

BT40-LHC16R-65 16 | 35 | 38 | 50 | 65 |525(425| 23 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M12*1.0| PT6 14

BT40-LHC16R-90 16 | 35 | 38 | 50 | 90 |52.5|425]| 48 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M12*1.0| PT6 16

BT40-LHC16R-140 | 16 | 35 | 38 | 50 [140|52.5|425| 48 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M12*1.0| PT6 24

BT40-LHC18R-75 18 | 37 | 40 | 50 | 75 |525|425| 30 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M12*1.0| PT6 15
BT40-LHC18R-90 18 | 37 | 40 | 50 | 90 |525|425]| 48 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M12*1.0| PT6 17
BT40-LHC18R-140 | 18 | 37 | 40 | 50 |140|525|425| 48 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M12*1.0| PT6 24
BT40-LHC20R-75 20 | 39 | 42 | 50 | 75 |525|425| 30 |LHC-M10-1.5P-14L| PT5 55Nm. |AJ-M12*1.0| PT6 15
BT40-LHC20R-90 20 | 39 | 42 | 50 | 90 [52.5]|425| 48 |LHC-M10-1.5P-14L| PT5 55Nm. | AJ-M12*1.0| PT6 17

BT40-LHC20R-140 | 20 | 39 | 42 | 50 [140|52.5|425| 48 |LHC-M10-1.5P-14L| PT5 55Nm. | AJ-M12*1.0| PT6 24

BT40-LHC25R-100 | 25 | 53 | 57 | 50 [100| 61 | 51 | - |LHC-M10-1.5P-14L| PT5 55Nm. | AJ-M12*1.0| PT6 2.2
BT40-LHC25R-135 | 25 | 53 | 57 | 50 |135| 61 | 51 | - |LHC-M10-1.5P-14L| PT5 55Nm. | AJ-M12*1.0| PT6 29
BT40-LHC32R-105 | 32 | 58 | 62 | 50 [105| 65 | 55 | - |LHC-M10-1.5P-14L| PT5 55Nm. | AJ-M12*1.0| PT6 24
BT40-LHC32R-135 | 32 | 58 | 62 | 50 |135| 65 | 55 | - |LHC-M10-1.5P-14L| PT5 55Nm. | AJ-M12*1.0| PT6 31

« REEMI Unit of Length(mm) Q5



LHC /R B2 J]#h %5

HYDRAULIC TOOL HOLDER SERIES

{7~ BT/LHC &E I

CHAIN HYDRAULIC TOOL HOLDER

HEADWAY

4] - =P
= 2],

L4

Ll

| 4525 Feature
- XS 0 G2.5 25000rpm -Dynamic Balancing G2.5 at 25000rpm

HERAE RERB4%  EREs B2
#MANE Adjustment IRF (KGS)
Torque screw Wrench Weight

23 | 26 | 50 | 90 |37.5|275| 32 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M5*0.5 | PT25 4.2

H B 9B 44 wRF

Clamping screw  Wrench

BT50-LHC6R-90

BT50-LHC6R-120 23 | 26 | 50 [120|37.5|275| 44 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M5*0.5 | PT25 4.5

BT50-LHC6R-140 23 | 26 | 50 |140|37.5|275| 44 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M5*0.5 | PT25 4.8

BT50-LHC8R-120
BT50-LHC8R-140 25 | 28 | 50 |140|37.5|275| 44 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M6*1.0 PT3 4.8
BT50-LHC10R-90 10 | 27 | 30 | 50 | 90 [42.5|325| 32 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M8*1.0 PT4 4.2
BT50-LHC10R-120 | 10 | 27 | 30 | 50 |120(425|325| 44 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M8*1.0 PT4 4.5
BT50-LHC10R-140 | 10 | 27 | 30 | 50 |140(425|325| 44 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M8*1.0 PT4 4.8

25 | 28 | 50 |120(37.5|275| 44 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M6*1.0 PT3 4.5

6
6
6
BT50-LHC8R-90 8 | 25| 28 | 50 | 90 |37.5|275| 32 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M6*1.0 PT3 4.2
8
8

BT50-LHC12R-90 12 | 29 | 32 | 50 | 90 |475|375| 32 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M8*1.0 PT5 43

BT50-LHC12R-120 | 12 | 29 | 32 | 50 |[120(47.5|37.5| 44 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M8*1.0 PT5 45
BT50-LHC12R-140 | 12 | 29 | 32 | 50 |140|47.5|37.5| 44 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M8*1.0 PT5 4.8
BT50-LHC14R-90 14 | 31 | 34 | 50 | 90 |475(37.5| 32 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M8*1.0 PT5 43
BT50-LHC14R-120 | 14 | 31 | 34 | 50 |120|47.5|37.5| 44 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M8*1.0 PT5 4.6
BT50-LHC14R-140 | 14 | 31 | 34 | 50 |140(47.5|37.5| 44 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M8*1.0 PT5 4.8
BT50-LHC16R-90 16 | 35 | 38 | 50 | 90 |52.5(425| 32 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M12*1.0| PT6 43
BT50-LHC16R-120 | 16 | 35 | 38 | 50 |[120|525|425| 48 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M12*1.0| PT6 4.6

BT50-LHC16R-140 | 16 | 35 | 38 | 50 |[140|525|425| 48 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M12*1.0| PT6 49

BT50-LHC18R-90 18 | 37 | 40 | 50 | 90 |52.5(425| 32 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M12*1.0| PT6 44
BT50-LHC18R-120 | 18 | 37 | 40 | 50 |120|52.5|425| 48 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M12*1.0| PT6 4.6
BT50-LHC18R-140 | 18 | 37 | 40 | 50 |140|52.5|425| 48 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M12*1.0| PT6 49
BT50-LHC20R-90 20 | 39 | 42 | 50 | 90 |525|425| 32 |LHC-M10-1.5P-14L| PT5 55Nm. | AJ-M12*1.0| PT6 44
BT50-LHC20R-120 | 20 | 39 | 42 | 50 |120|525|425| 48 [LHC-M10-1.5P-14L| PT5 55Nm. | AJ-M12*1.0| PT6 4.7
BT50-LHC20R-140 | 20 | 39 | 42 | 50 |140|525|425| 48 [LHC-M10-1.5P-14L| PT5 55Nm. | AJ-M12*1.0| PT6 49

BT50-LHC25R-105 25 | 53 | 57 - |105| 61 | 51 - |LHC-M10-1.5P-14L| PT5 5.5Nm. | AJ-M12*1.0 PT6 4.8
06 - E[EEE{I Unit of Length (mm)




LHC iREB2J]th %5

HYDRAULIC TOOL HOLDER SERIES

{7~ || BT/LHC R JI#®

CHAIN HYDRAULIC TOOL HOLDER

K]IHL T

14

Ll

| 425 Feature

- IEAEE) A G2.5 25000rpm -Dynamic Balancing G2.5 at 25000rpm
e m g e =
B BT TE adumen BT (69
Torque screw Wrench Weight
BT50-LHC25R-150 | 25 | 53 | 57 - 150 61 | 51 - |LHC-M10-1.5P-14L| PT5 55Nm. | AJ-M12*1.0 PT6 5.6
BT50-LHC32R-115 | 32 | 58 | 62 - |115| 65 | 55 - |LHC-M10-1.5P-14L| PT5 55Nm. | AJ-M12*1.0 PT6 51
BT50-LHC32R-150 | 32 | 58 | 62 - |150| 65 | 55 - |LHC-M10-1.5P-14L| PT5 55Nm. | AJ-M12*1.0 PT6 5.8

« R E B il Unit of Length (mm) 07



LHC R ENM&R&EREE I 25

SLIM & TAPER HYDRAULIC TOOL HOLDER SERIES

7> || BT/LHC 81 EMERE IR

B

CHAIN SLIM & TAPER HYDRAULIC TOOL HOLDER

HEADWAY

D2

| 4525 Feature
- R G2.5 25000rpm -Dynamic Balancing G2.5 at 25000rpm

HERME BERL RRs =S
ZFMAME  Adjustment  IRF  (KGS)
Torque screw Wrench Weight

H 5] 92 44 wRF

Clamping screw  Wrench

BT30-LHC6RS-110 6 | 16 | 24 | 445|110|375|275| 66 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M5*0.5 | PT2.5 0.9
BT30-LHC8RS-110 8 18 | 26 | 445 |110(375|275| 66 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M6*1.0 PT3 0.9
BT30-LHC10RS-110 | 10 | 20 | 28 |44.5|110|42.5|325| 67 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M8*1.0 PT4 11
BT30-LHC12RS-110 | 12 | 22 | 30 |44.5|110|47.5|375| 67 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M8*1.0 PT5 1.2
BT40-LHC6RS-150 6 | 16 | 24 | 50 |150|37.5|27.5|103 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M5*0.5 | PT25 1.6

BT40-LHC8RS-150 8 | 18 | 26 | 50 |150|37.5|27.5|104 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M6*1.0 PT3 17

BT40-LHC10RS-150 | 10 | 20 | 28 | 50 |150|42.5]|32.5|104 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M8*1.0 PT4 17
BT40-LHC12RS-150 | 12 | 22 | 30 | 50 |150(47.5|37.5|105|LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M8*1.0 PTS 18
BT40-LHC14RS-150 | 14 | 24 | 32 | 50 |150(47.5|37.5|105|LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M8*1.0 PT5 18
BT40-LHC16RS-150 | 16 | 26 | 34 | 50 |150|52.5|42.5|106|LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M12*1.0| PT6 1.9
BT40-LHC18RS-150 | 18 | 28 | 36 | 50 |150|52.5|42.5|107 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M12*1.0| PT6 19
BT40-LHC20RS-150 | 20 | 30 | 38 | 50 |150|52.5|42.5|108 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M12*1.0| PT6 2.0
BT50-LHC6RS-190 6 | 16 | 24 | 50 |190|37.5|27.5|120 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M5*0.5 | PT2.5 43

BT50-LHC8RS-190 8 | 18 | 26 | 50 |190|37.5|27.5|120 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M6*1.0 PT3 43
BT50-LHC10RS-190 | 10 | 20 | 28 | 50 [190|42.5|32.5|120|LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M8*1.0 PT4 4.4
BT50-LHC12RS-190 | 12 | 22 | 30 | 50 [190|47.5|37.5|120|LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M8*1.0 PT5 44
BT50-LHC14RS-190 | 14 | 24 | 32 | 50 |190|47.5|37.5|121 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M8*1.0 PT5 4.5
BT50-LHC16RS-190 | 16 | 26 | 34 | 50 |190|52.5|42.5|121 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M12*1.0| PT6 4.5
BT50-LHC18RS-190 | 18 | 28 | 36 | 50 |190|52.5|42.5|122 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M12*1.0| PT6 4.6
BT50-LHC20RS-190 | 20 | 30 | 38 | 50 |190|52.5|425|122 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M12*1.0| PT6 4.7

08 - E[EEE{iI Unit of Length (mm)



LHC ®EB2J]th %5

HYDRAULIC TOOL HOLDER SERIES

(7> || HSK/LHC & B2 T

CHAIN HYDRAULIC TOOL HOLDER

HEAITWAY

Fig.1
Fig.2
| 4525 Feature
- R : G2.5 25000rpm -Dynamic Balancing G2.5 at 25000rpm

HERAE REERB%G WER S
ZMAME Adjustment #4IRF  (KGS) Fig.
Torque screw  Wrench Weight

H 9B 44 wF

Clamping screw  Wrench

HSK63A-LHC6R-70 23 | 26 | 50 | 70 |375|27.5| 24 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M5*0.5 | PT2.5 1.0

HSK63A-LHC6R-150 23 | 26 | 50 [150|37.5|27.5|103 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M5*0.5 | PT2.5 1.0

HSK63A-LHC8R-70 25 | 28 | 50 | 70 [37.5|27.5| 24 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M6*1.0 | PT3 1.0

HSK63A-LHC8R-150 25 | 28 | 50 |150(37.5|27.5|104 |[LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M6*1.0 | PT3 15

6
6
HSK63A-LHC6R-200 6 23 | 26 | 50 |200(37.5|27.5|153 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M5*0.5 | PT2.5 23
8
8
8

HSK63A-LHC8R-200 25 | 28 | 50 |200|37.5|27.5|154 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M6*1.0 | PT3 23

HSK63A-LHC10R-80 | 10 | 27 | 30 | 50 | 80 |425|325| 35 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M8*1.0 | PT4 11

HSK63A-LHC10R-150 | 10 | 27 | 30 | 50 |150|42.5 325|104 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M8*1.0 | PT4 1.6

HSK63A-LHC10R-200| 10 | 27 | 30 | 50 |200|42.5|325| 154 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M8*1.0 | PT4 24

HSK63A-LHC12R-85 | 12 | 29 | 32 | 50 | 85 [47.5|37.5| 40 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M8*1.0 | PT4 1.2

HSK63A-LHC12R-150 | 12 | 29 | 32 | 50 |150|47.5|37.5|105|LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M8*1.0 | PT5 17

HSK63A-LHC12R-200 | 12 | 29 | 32 | 50 |200|47.5|37.5| 155 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M8*1.0 | PT5 24

HSK63A-LHC14R-85 | 14 | 31 | 34 | 50 | 85 |47.5|37.5| 40 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M8*1.0 | PT4 1.2

HSK63A-LHC14R-150| 14 | 31 | 34 | 50 |150(47.5|37.5|105 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M8*1.0 | PT5 17
HSK63A-LHC14R-200| 14 | 31 | 34 | 50 |200|47.5|37.5|155|LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M8*1.0 | PT5 24
HSK63A-LHC16R-90 | 16 | 35 | 38 | 50 | 90 [52.5|425| 46 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M8*1.0 | PT4 13

HSK63A-LHC16R-150{ 16 | 35 | 38 | 50 |150(52.5|42.5|106 |[LHC-M8-1.25P-14L| PT4 55Nm. |AJ-M12*1.0| PT6 1.8
HSK63A-LHC16R-200( 16 | 35 | 38 | 50 |200|52.5|425|156 |LHC-M8-1.25P-14L| PT4 55Nm. |AJ-M12*1.0| PT6 24
HSK63A-LHC18R-90 | 18 | 37 | 40 | 50 | 90 |52.5|425| 47 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M8*1.0 | PT4 13
HSK63A-LHC18R-150( 18 | 37 | 40 | 50 |15052.5|425|107 |LHC-M8-1.25P-14L| PT4 55Nm. [AJ-M12*1.0| PT6 19
HSK63A-LHC18R-200| 18 | 37 | 40 | 50 |200 525|425 |157 |[LHC-M8-1.25P-14L| PT4 55Nm. |AJ-M12*1.0| PT6 25

NN [INNINEPRININIEREININER NN ININERE NN

« EEEMI Unit of Length(mm) Q9



LHC /R B2 J]#h %5

HYDRAULIC TOOL HOLDER SERIES

{7~ HSK/LHC &E I

CHAIN HYDRAULIC TOOL HOLDER

HEADWAY

| 4525 Feature L |
- IREEB) 4 G2.5 25000rpm -Dynamic Balancing G2.5 at 25000rpm

HERAE ARES WREBs ==
ZHNE Adjustment #H®F  (KGS) Fig.
Torque screw  Wrench Weight

SH B IR 44 wmF

Clamping screw  Wrench

HSK63A-LHC20R-90 20 [ 39|42 | 50 |90 |525|425| 48 [LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M8*1.0 | PT4 13
HSK63A-LHC20R-150 | 20 39| 42 | 50 |150|52.5|425|108 [LHC-M10-1.5P-14L| PT5 55Nm. |AJ-M12*1.0| PT6 2.0

HSK63A-LHC20R-200 20 | 39 | 42| 50 [200|52.5|425| 158 |LHC-M10-1.5P-14L| PT5 5.5Nm. |AJ-M12*1.0| PT6 26

HSK63A-LHC25R-120 25 |46 | 50| - |120| 61 | 51 - |LHC-M10-1.5P-14L| PT5 5.5Nm. |AJ-M12*1.0| PT6 23

HSK63A-LHC32R-125 32 | 56 | 60 | 52.5|125| 65 | 55 - |LHC-M10-1.5P-14L| PT5 55Nm. |AJ-M12*1.0| PT6 2.8

HSK100A-LHC6R-75 23126 | 50 |75 |375(275| 26 [LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M5*0.5 | PT2.5 2.6

HSK100A-LHC6R-160 23 | 26 | 50 |160|37.5|27.5|104 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M5*0.5 | PT2.5 3.0

HSK100A-LHC8R-75 25|28 | 50 | 75(375(275]| 26 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M6*1.0| PT3 27

HSK100A-LHC8R-160 25|28 | 50 |160|37.5|27.5|104 |[LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M6*1.0| PT3 31

6
6
HSK100A-LHC6R-200 6 | 23|26 | 50 |200|37.5|27.5|144 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M5*0.5 | PT2.5 3.2
8
8
8

HSK100A-LHC8R-200 25|28 | 50 |200|37.5|27.5| 144 |[LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M6*1.0| PT3 33

HSK100A-LHC10R-90 10 | 27 | 30 | 50 | 90 |42.5|32.5| 42 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M8*10| PT4 2.8

HSK100A-LHC10R-160 | 10 | 27 | 30 | 50 |160|42.5|32.5 | 105 |[LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M8*10| PT4 31

HSK100A-LHC10R-200 | 10 | 27 | 30 | 50 |200|425 |32.5| 145 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M8*10| PT4 33
HSK100A-LHC12R-95 | 12 (29|32 | 50 |95 |475|375| 47 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M8*1.0| PT5 2.8

HSK100A-LHC12R-160 | 12 (29| 32 | 50 [160|47.5|37.5|105 [LHC-M8-1.25P-14L| PT4 55Nm. [ AJ-M8*1.0| PT5 32

HSK100A-LHC12R-200 | 12 (29| 32 | 50 [200|47.5|37.5|145 |[LHC-M8-1.25P-14L| PT4 55Nm. [ AJ-M8*1.0 | PT5 34

HSK100A-LHC14R-95 | 14 |31 |34 | 50 | 95|47.5(375| 47 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M8*1.0| PT5 28
HSK100A-LHC14R-160 | 14 |31 | 34 | 50 (160|47.5|37.5|107 [LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M8*1.0| PT5 3.2
HSK100A-LHC14R-200 | 14 | 31 | 34 | 50 (200|47.5|37.5|147 [LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M8*1.0| PT5 35
HSK100A-LHC16R-100 | 16 | 35|38 | 50 [100|52.5|425| 53 [LHC-M8-1.25P-14L| PT4 55Nm. [AJ-M12*1.0| PT6 29
HSK100A-LHC16R-160 | 16 | 35 | 38 | 50 |160|52.5|42.5|107 |LHC-M8-1.25P-14L| PT4 55Nm. [AJ-M12*1.0| PT6 34
HSK100A-LHC16R-200 | 16 | 35|38 | 50 [200|52.5|425 | 147 |[LHC-M8-1.25P-14L| PT4 55Nm. [AJ-M12*1.0| PT6 3.8

NN RN IR N RN RN RN R R RN -

10 - EEEEAI Unit of Length (mm)



LHC ®EB2J]th %5

HYDRAULIC TOOL HOLDER SERIES

CHAIN HYDRAULIC TOOL HOLDER

HEAITWAY

63—:-| HSK/LHC ¥ & 714

DI
D2
D3
D4

Fig.1

Fig.2
| 4% Feature L |
- IZAEE) A 0 G2.5 25000rpm -Dynamic Balancing G2.5 at 25000rpm

HERAE ARES WREBs ==
ZHNE Adjustment ®F  (KGS) Fig.
Torque screw  Wrench Weight

L4 R [ 1R 44 wRF

Clamping screw  Wrench

HSK100A-LHC18R-100 | 18 | 37 | 40 | 50 |100|52.5|42.5| 53 |LHC-M8-1.25P-14L| PT4 55Nm. |AJ-M12*1.0| PT6 3.0

HSK100A-LHC18R-160 | 18 | 37 | 40 | 50 |[160|52.5|425|108 |LHC-M8-1.25P-14L| PT4 55Nm. |AJ-M12*1.0| PT6 35

HSK100A-LHC18R-200 | 18 | 37 | 40 | 50 |200|52.5|42.5 | 148 |[LHC-M8-1.25P-14L| PT4 5.5Nm. |AJ-M12*1.0| PT6 3.9

HSK100A-LHC20R-105 | 20 | 39 | 42 | 50 |105|52.5|425| 59 |LHC-M10-1.5P-14L| PT5 55Nm. |AJ-M12*1.0| PT6 3.0

HSK100A-LHC20R-160 | 20 | 39 | 42 | 50 |160|52.5 425|108 [LHC-M10-1.5P-14L| PT5 55Nm. |AJ-M12*1.0| PT6 3.6

HSK100A-LHC20R-200 | 20 | 39 | 42 | 50 |200| 525|425 | 148 |[LHC-M10-1.5P-14L| PT5 55Nm. |AJ-M12*1.0| PT6 4.0

HSK100A-LHC25R-110 | 25 | 583 | 57 | 63 |110| 61 | 51 | 62 |LHC-M10-1.5P-14L| PT5 55Nm. |AJ-M12*1.0| PT6 37

HSK100A-LHC25R-160 | 25 | 583 | 57 | 63 |160| 61 | 51 | 110 [LHC-M10-1.5P-14L| PT5 55Nm. |AJ-M12*1.0| PT6 47

HSK100A-LHC25R-200 | 25 | 53 | 57 | 63 |200| 61 | 51 |150 |[LHC-M10-1.5P-14L| PT5 55Nm. |AJ-M12*1.0| PT6 54

HSK100A-LHC32R-110 | 32 | 58 | 63 | 75 |110| 65 | 55 | 62 |LHC-M10-1.5P-14L| PT5 55Nm. |AJ-M12*1.0| PT6 39

HSK100A-LHC32R-160 | 32 | 58 | 63 | 75 |160| 65 | 55 | 110 |[LHC-M10-1.5P-14L| PT5 55Nm. |AJ-M12*1.0| PT6 5.0

NN RFR NN RR,INDIN]RPRINNDN] R

HSK100A-LHC32R-200 | 32 | 58 | 63 | 75 |200| 65 | 55 | 150 [LHC-M10-1.5P-14L| PT5 55Nm. [AJ-M12*1.0| PT6 6.1

« REEMI Unit of Length(mm) 11



LHC R ENM&R&E R TIHH %51

SLIM & TAPER HYDRAULIC TOOL HOLDER SERIES

(7> || HSK/LHC &I E i & & B ] 1

B

CHAIN SLIM & TAPER HYDRAULIC TOOL HOLDER

HEADWAY

L2

L3

DIl
D2
D3
D4

D
” | |W\:? |
WS ==

| 4% Feature

- IRAEB) 8 G2.5 25000rpm -Dynamic Balancing G2.5 at 25000rpm
- HEIRAE RAEES MREBR% 2=
e W, MENE Adustment BF  (KGS)
pIng Torque screw  Wrench Weight
HSK63A-LHC6RS-150 6 |16 |24 | 50 [150|37.5|27.5|103 |LHC-M8-1.25P-14L| PT4 | 55Nm. |AJ-M5*05| PT25 | 13
HSK63A-LHC8RS-150 8 |18 |26 | 50 [150|37.5|27.5|104 |LHC-M8-125P-14L| PT4 | 55Nm. |AJ-M6*1.0| PT3 1.3

HSK63A-LHC10RS-150 10 | 20| 28 | 50 |150(42.5 | 325|104 |[LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M8*1.0 | PT4 14

HSK63A-LHC12RS-150 12 | 22| 30 | 50 |150(47.5|37.5|105 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M8*1.0 | PT5 15

HSK63A-LHC14RS-150 14 | 24| 32 | 50 |150(47.5|37.5|105 |LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M8*1.0 | PT5 15

HSK63A-LHC16RS-150 16 |26 | 34 | 50 |150(52.5|425 | 106 [LHC-M8-1.25P-14L| PT4 5.5Nm. |AJ-M12*1.0| PT6 16

HSK63A-LHC18RS-150 18 | 28 | 36 | 50 |150(52.5 (425|107 |[LHC-M8-1.25P-14L| PT4 5.5Nm. |AJ-M12*1.0| PT6 1.6
HSK63A-LHC20RS-150 20 | 30| 38| 50 [150|52.5|425|108 |LHC-M8-1.25P-14L| PT4 55Nm. |AJ-M12*1.0| PT6 17
HSK100A-LHC6RS-180 6 |16 |24 | 50 |180|37.5|27.5|120 |[LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M5*0.5| PT2.5 3.0
HSK100A-LHC8RS-180 8 |18 | 26| 50 |180|37.5|27.5|120 [LHC-M8-1.25P-14L| PT4 55Nm. | AJ-M6*1.0| PT3 31
HSK100A-LHC10RS-180 10 | 20| 28 | 50 180|425 325|120 [LHC-M8-1.25P-14L| PT4 55Nm. [ AJ-M8*1.0| PT4 31

HSK100A-LHC12RS-180 12 | 22| 30 | 50 |180|47.5|37.5|120 |LHC-M8-1.25P-14L| PT4 55Nm. [ AJ-M8*1.0| PT5 3.2

HSK100A-LHC14RS-180 14 | 24|32 | 50 |180(47.5|37.5|121 |[LHC-M8-1.25P-14L| PT4 55Nm. [ AJ-M8*1.0| PT5 32

HSK100A-LHC16RS-180 | 16 |26 | 34 | 50 |180|52.5|42.5|121 [LHC-M8-1.25P-14L| PT4 55Nm. [AJ-M12*1.0| PT6 33

HSK100A-LHC18RS-180 | 18 |28 | 36 | 50 |180|52.5|425|122 [LHC-M8-1.25P-14L| PT4 55Nm. [AJ-M12*1.0| PT6 34
HSK100A-LHC20RS-180 | 20 |30 | 38 | 50 |180|52.5|425|122 [LHC-M8-1.25P-14L| PT4 55Nm. [AJ-M12*1.0| PT6 34

12 < EEEEAI Unit of Length (mm)



(—~L_L_HAIN

HEAOWAY
I PRIBE B3 A R 2> i

& 5E TEL/
+886-4-26265252

I8 EE Fax/
+886-4-26267941

' ik Address /
aEadmBEKE Q232595
No. 232, Wuquan Rd., Qingshui Dist., Taichung City 436, Taiwan

AAw

& 21t Website /

www.chain-headway.com

:,_E%g R
[=] E-

WeChat Facebook YouTube




